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6. FTHIENLEATFEN, 2 FEEERES?
(A) A FRFABIFFTNE B) AT RFRBIFTFTHE
O FXFRFABFFTH4 D) X PGRABEFTHA
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9. B ()M ~XHFHE G > LK 30cm~ F&E Vem~ 35 60cm > EHOE L A2 R
(A)32.5em (B) 35 cm (C) 37.5 cm (D) 40 cm
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(A) 10KN (& #) (B) 10N ($: 77)
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(A) 5 kN-m (B) 10 KN-m
(C) 15 kN-m (D) 20 kN-m

16. =R BEINT » BR2SIKN K9 HIERE 2 S A ?
(A) 20 kN-m (B)25kN-m
(C)30kN-m (D) 40 kKN-m

17. B RwB(L)FT BER P B2 H@ A4 2
(A) 800 kgf (B) 400 kgf
(C) 200 kgf D) 0 kgf

18. Z—E @B (AT S @R X M [, 5 32000cm’ B ZEas L
Fs b2 A L, BT 7 |
(A) 5000 cm* (B) 6000 cm*
(C) 7000 cm® (D) 8000 cm*
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21 wB(R)ATLMERE S » AH RS2 H B0

(A) 60 kN (& #1) (B) 60 kN (32 4)
(C) 84.84 kXN (B 77) (D) 84.84 kN (3. )

22. WwB(A)FAIBEHET - AB B2 4 5479
(A) 60 KN (B A1) (B) 60 kN (3. 4)

(C) 84.84 kN (& A1) (D) 84.84 kN (& 7)
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O RAFaXBITETEELELHE D) BB IEREELELN

4. ~AXBORELMAR  E(HAT > B TRASZERGE Man 5
(A) 1637.5 kgt-m (B) 1737.5 kgf-m
(C) 1837.5 kgf-m (D) 1937.5 kegf-m
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(A)(8,12) B)(7,11.5)
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(A) 0.333 B)0433 L

(C)0.533L D) 0633 L

30. B (TR BH PR x 2 I§HES 1 ( B4 om)
{A) 13758333  (B) 16789342 (C)5672342 (D) 1246553.2
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